CATALOGUE OF THERMO SWITCH

Whw no: WKOO0O1

Part no:
Application/0.E. M:
VOLKSWAGEN 823 959 481A

&29 % M22X1.5 Emsﬂj L\’Z_T

820-68TC

Mhw no: WK0002
Part no: 7.5070 FS103 FAE37660
Application/0.E. M:

G. M. 94840250
94846018
TOYOTA 89428-15011

89428-32010

[~ ]

Mhw no: WK0006
Part no: 7.5036 FAE37450
Application/0.E. M:

HONDA 37760-611-005
37760-634-005
37760-PA0-001/003
37760-PB2-003

SUZUKI 17680-70020

17680-78000
ROVER GROUP  BNP 1883

o[ e B8] L [ ot

(2)
92°C-87C

Mhw no: WK0007

Part no:
Application/0.E. M:

MAZDA F 823 18 840
FORD E 8GY-9D473-B

85T-ON

AeB| b

£ 2 % 3IBGAS

i@

Whw no: WK0003

Part no: 7.5092 FS106 FAE36100

Application/0.E. M:

NISSAN 21595-01A00
21595-04A00

ﬁg 2 % M16X1.5

@ | LJ

5

90°C-85C

Whw no: WK0008
Part no:
Application/0.E. M:
GENERAL MOTORS

Mhw no: WKO004

Part no: 7.5198 FS2030 FAE36710
Application/0.E. M:
G M. 94 853 091
TOYOTA 89428-12150
89428-12160

d@ 2 % M16X1.5

@i

8 | vs

92C-87C

Mhw no: WKO0009

Part no:
Application/0.E. M:
G. M 90339408
OPEL 13 41 025
ELTH 268067
| 8 C
C@ 29 % M22X1.5 1110001 _19955L_

{:(E; 17 E%g M16X1.5

Mhw no: WK0005
Part no: 7.5125 F§155
Application/0.E. M:

FORD E8GY-9D473-B
HYUNDAI 0F823-18840
KIA 0F823-18840
NAZDA F 823-18-840
MOTORCRAFT  CX-1297

% 3/8GAS Eldmmﬁ M

<

} e ’

Mhw no: WK0010

Part no: FAE36570

Application/0.E. N:

TOYOTA 89428-15020
89428-15030

80C-85¢

http://www.okaymotor.com



CATALOGUE OF THERMO SWITCH

Whw no: WKOOT1
Part no: FAE37910 FS2040
Application/0.E. N:

Mhw no: WKOO16

Part no:
Application/0.E. M:

FIAT 7655732 CHRYSLER 553 321 201
1738582

ALFA ROMEO 60809247

PSA 1264.33

92'C-87T
97C-82T

T—‘L& 85C-ON

‘C@ 20 % M22X1.5 % 6.35

Nhw no: WK0012

% 3/8GAS

Whw no: WKOO17

C@u

Part no: Part no: FS2010

Application/0.E. M: Application/0.E.M:

LADA 326891 FORD 1646 398
6146 107/110
6 168 439

6169 111/112/113
6 496 665/7 001 608

85AB-8B607-A2B/A3A/A3B
89FB-8B607-AA/ATA

Ol v | |erfg=© | Lt e

Whw no: WKOO18

|C@ 2 % M18X1.5

Whw no: WK0013

Part no: FAE38150 F§152 Part no:
Application/0.E. M: Application/0.E.M:
AUDI-VW 251 919 481C BENZ

251 919 481D VDo

‘C@ 2 % M22X1.5 el] | Bae d@ 13 % M10X1.5 E §.35 ’ L\LJ' 150:5¢
Whw no: WKO0O14 Nhw no: WKOO19
Part no: Part no: FAE36660
Application/0.E. M: Application/0.E. M:
HONDA 37773-PT3-A01 DENSO 071 400-4881
\ KIA 0 N350 18 840
/a.."” WAZDA N 350 18 840

|C@ NH%W“[ ‘ L | %2-:-!% { “ A

Whw no: WK0O15

% M16X1.5

Mhw no: WK0020

Part no: Part no:

Application/0.E. M: Application/0.E.M:

VOLKSWAGEN  321-959-481C SUBARU 78305-2102
My
_f

gl e =]

B51C-55T

e[ @ =@~ L

http://www.okaymotor.com -2-



CATALOGUE OF THERMO SWITCH

Nhw no: WK0021
Part no: FAE37620 FS105
Application/0.E.N:

DENSO 071 400-1730

MAZDA B JO1 18 840
E 508 18 840A
F 8B5 18 840

907C-85¢

E 6.35

g

Mhw no: WK0022
Part no: FS2038
Application/0.E. M:
BEHR-THOMSON 8 121 14

LAND ROVER  PRC 3359
SAAB 40 86 724
85 72 331
95 26 526
95 52 878

(@19 % M22X1.5 ELE.&SE]] N 1M5T-110C

Mhw no: WK0026
Part no: FAE36250 FS2014
Application/0.E. M:

MERCEDES 006 545 15 24
006 545 40 24
Cﬁg 2 % M14X15 @ 4mm

Mhw no: WK0027

Part no: FAE36380
Application/0.E. M:

HONDA 37770-PY3-A01

FECESE

92C-771

Mhw no: WK0023
Part no: FAE37320 FAE37020
Application/0.E. M:

Whw no: WK0028
Part no: FAE35760
Application/0.E. M:

CITROEN 5.418. 467 MERCEDES 005 545 70 24
FIAT 4424394/82247158/82313781 e 006 545 44 24
NISSAN 21595-R7400 ~HI‘U -
PEUGEOT 1264.05/06/09/12/15 =
RENAULT 08 55 957 600 b 4
77 00 618 658/77 00 622 019
77 00 759 441/77 01 349 694 | )
C@ 2 % M22X1.5 ‘Eszsﬂ I « 920-82¢ C@ 2 % M14X1.5 ‘ Q - T"\L& 50CH40T
Mhw no: WK0024 Mhw no: WK0029
Part no: Part no: 7.5037 FAE37650
Application/0.E. M: Application/0.E. M:
HONDA 37760-P00-003 DAIHATSU 83430-87701
37760-P00-004 83430-87701-000 Mg o
A FIAT 553321201 Q 7
Ny 6553321201 ‘
; INNOGENT! 553321201
6553321201
2% M18X1.5 ' 7 / : L £-90C
C@ % [ « ] 95-90 !£ r‘% 3/8GAS E 535 - . 851-90

Mhw no: WK0025
Part no: FAE37350
Application/0.E. M:
PEUGEOT 0242.12

B2C-681

€| [ Befl] L

Mhw no: WK0030

Part no: FAE36160 FS108

Application/0.E. M:

TOYOTA 89428-10090
89428-10100
89428-10110
89428-12160

i o [

B5C-801 ‘

http://www.okaymotor.com



CATALOGUE OF THERMO SWITCH

Mhw no: WK0031

Part no:

Application/0.E. M:

SUBARU 6821-51221
7830-52071
7830-52081

ce[ge]A -

Whw no: WKO0036

Part no:
Application/0.E. M:

KIA KK150-18-840
KK150-18-840A

fl

‘C@ 17 % M16X1.5

.

o v ]

6.35

Mhw no: WK0032 Whw no: WK0037
Part no: FAE37610 Part no: FAE37820 FS157
Application/0.E. M: Application/0.E N:
FORD E7 R4 10884 A AUDI-SEAT-VW 191 959 481C
E7 RY 10884 A 251 919 481D
E8 BZ 10884 A 321 959 481A/C/D
E9 22 10884 A PORSCHE 951 606 481 00
F1 JY 10884 A VOLVO 3448916-1
MAZDA B 303 18 840/E 301 18 840 A 3451216-0
E 508 18 840 A/F 8B8 18 840 A i
@ 17 % MIEX1.5 El 635 ’ T—"L% 87C-92t C@ 2 % M22X1.5 |m telel | B3
M|
Mhw no: WKO0033 Mhw no: WK0038
Part no: Part no:
Application/0.E. N: Application/0.E.M:
DENSO 071 400-3680
MITSUBISHI MB-356842 :
C@ 17 % M1BX1.5 El 6.3 LH 90C-85¢C d@ 12 % M!UM:S‘ E 6.35 ‘ {
Nhw no: WK0034 Whw no: WK0039
Part no: FAE36390 FS2036 Part no:
Application/0.E. M: Application/0.E. M:
HONDA 37773-PH1-003 WAZDA RF03-18-840A
37773-PH1-621 7
37773-PH2-004 "'
37773-PH2-621 4
37773-PT0-004 4
ROVER PEJ 100080
C@ 2 % M16X1.5 T_‘ﬁ | 92C-87¢ C@ 14 % 1{&-2?NPT} E §.35 Lﬂ_& 105C-1001 ‘
Mhw no: WKO0035 Mhw no: WK0040
Part no: FAE36170 Part no: FAE37530 FS112
Application/0.E. N: Application/0.E.M:
TOYOTA 89428-20060 NISSAN 21595-60A00
™
C@ 17 % M16X1.5 - T_l*L* 90C-85¢ ‘ ‘ ’C@ 2 ‘ % M16X1.5 ‘ @p ‘ T_{ | ‘ 950-90¢ ‘ ‘

http://www.okaymotor.com



CATALOGUE OF THERMO SWITCH

Mhw no: WK0041

Part no: FAE37550 FS113

Application/0.E. M:

NISSAN 21595-04F04
21595-63A00

C@ 2 % M16X1.5

Whw no: WK0046

Part no:
Application/0.E. M:

C@' 19 % M14X1.0

Nhw no: WK0042

Part no: FAE37760 FS195

Application/0.E. M:

NISSAN 21595-07F00
21595-63A01

<ofg

Mhw no: WK0047
Part no: FAE37810
Application/0.E.N:

ALFA ROMEO 60533503

CITROEN 95.516. 467
95. 630. 939

PEUGEOT 1264.16

£ 29 % M22X1.5 @ 6.35

Ld

84°C-19T
B88C-831

Mhw no: WK0043

Part no: FAE36620

Application/0.E. M:

HYUNDAI 25360-33010
25360-33011

j( 214 %3.‘5—1%”

Mhw no: WK0048

Part no:
Application/0.E. M:
NISSAN 21595-50A00

C@ n % M18X1.5

00| Lt |

Mhw no: WK0044

Part no: FAE36240

Application/0.E. M:

MARUTI 17680-84201

SUZUKI 17680-55A01
17680-84000
17680-84200
17680-84201
17680-84201-000

Whw no: WK0049

Part no: 7.5139 FAE37720
Application/0.E. M:

HONDA 37760-PN3-003
ROVER FDU2767

AC =2 % M16X1 5 ‘ [« | sreex ‘ AC 7 % M1BX1 5 ﬁdmmﬁ [ T | sscon \
Whw no: WK0045 Whw no: WKO0O050
Part no: 7.5223 FS2039 FAE36712 '1 Part no: FS151
Application/0.E. M: Application/0.E.N:
TOYOTA 89428-41010 ¥ / BEHR-THOMSON 8.135.10
SEAT 191 959 481 B
Nl V. N 191 959 481 B
307 959 481 1
321 959 481 B
321 959 481 E
. ) | 321 959 481 6
‘C@ 17 ’ % M16X15 @F ’ T_r-f_* 901C-85C ‘ ‘ ‘C@ 2 % MSEX‘I.E’ -| T J | sscsoc

http://www.okaymotor.com




CATALOGUE OF THERMO SWITCH

Nhw no: WK0051 i Mhw no: WK0O056
Part no: ‘ Part no: FAE38120 FS2013
DAIHATSU 83430-87719 Application/0.E. M:
83430-87722 MERCEDES 006 545 42 24
Mir,
C@zz % 3/8GAS E 6.35 L\H 85C-ON C@u % M14X1.5 @ Telel | Sce ’
Mhw no: WK0052 Whw no: WK0057
Part no: FAE36830 Part no: FAE37250
Application/0.E. M: Application/0.E.N:
HONDA 37773-PY3-A01 RENAULT 77 00 782 503
37773-PT0-004 7700 812 371
C@:z % M16X1.5 @ ‘ L‘i ] 820771 ’ C@za % M22X1.5 L{ ]‘ 927821
Whw no: WK0053 ’ Whw no: WK0058
Part no: FAE37740 Part no:
Application/0.E. M: Application/0.E. M:
DENSO 071 400-3350 VOLVO 1578133
WITSUBISHI  MB-435745
C@ﬁl% M16X1.5 El £.35 T_H 1007-95¢ ‘ j@ % %m-aauw Q—ZE ‘ gg‘ ‘
Whw no: WK0054 Whw no: WKO0059
Part no: Part no:
Application/0.E. N: Application/0.E. M:
TOYOTA 89428-10030 NISSAN 21595-N4700
21595-P7100
i@ 17 % M16X1.5 ‘ T_H 920-87C ‘ ﬁ@ 17 %a;ams BJ dmm ’ T_\L* B85-80

Whw no: WK0O055

Part no: FAE36550
Application/0.E. M:
TOYOTA

89428-24010

e

Mhw no: WKO0060
Part no: TS-74
Application/0.E. N:

% JEX1BNPT

http://www.okaymotor.com

] ey | o |



CATALOGUE OF THERMO SWITCH

Mhw no: WKO0O61

Part no:
Application/0.E. M:

%) ]@ ‘Bass‘

}{jfg; 18

Mhw no: WK0062

Part no:
Application/0.E. M:
FORD E8 GY 9D4738B

C@ 21 % 3/8GAS

BB | L [ mor

Mhw no: WK0066

Part no:

Application/0.E. M:

G N 10045782
14043276
14001889

%mmsspé ‘ T_\L%

1151C-105¢ ’

)
e

Mhw no: WK0OG67
Part no: FAE37220 FS153
Application/0.E. N:
ALFA ROMEO 605 856 03
608 082 23
FIAT 5992 756
7728 057/7 748 867
8 243 641 0/8 246 553 3
82477919
1264, 32

U € [ Lo [

q

Nhw no: WK0063

Part no: FAE37640

Application/0.E. M:

SUBARU 68215-1080
68215-1150
68215-1180
7830-5200

Lt-& 920871 ‘

C@:?-‘% M16X1.5 ﬁ imm |

Nhw no: WK0064
Part no:
Application/0.E. M:
VOLKSWAGEN

C@ 19 % M10X1.25

!&{;29

Mhw no: WKOO68

Part no: FAE36370 F52023

Application/0.E. M:

AUDI-VN 811 959 481
893 959 481

&

L T

==
%M:C-l.s 95-90¢ ‘
L —

!C@“‘%“'”s

Mhw no: WK0069

Part no:

Application/0.E. N:

NISSAN 21595-D0120
21595-D1600

= | LJ

Mhw no: WK0065
Part no:
Application/0.E. M:
VOLKSWAGEN

o

“T-1-

d@ 19 % M10X1.25

e

Mhw no: WK0070

Part no: FAE34090
Application/0.E. N:
CITROEN 96 089 138
FIAT 9 608 913 880
JAEGER 33640105
PEUGEOT-PSA 1338, 33

%ma-i.:s; ‘ T—T#J, ‘ o ‘ ‘

http://www.okaymotor.com -1



CATALOGUE OF THERMO SWITCH

Mhw no: WK0OT1

Part no: FAE37940
Application/0.E. M:
CITROEN 96. 085. 909
PEUGEOT 1264. 27

Ll |

C@ 29 % M22%1.5

Whw no: WKOO76
Part no: FAE36485 FS2019
Application/0.E. N:
HYUNDAI 25360-37100

.-C@n-%maw.s ‘ _ire ‘

Mhw no: WK0072

Part no:

Application/0.E. M:

WITSUBISHI MB-660663
MB-845063

¢

B5C-80T

C@ 22 ’ % M1s.-.1.5-

Whw no: WKO0077

Part no: FAE38381 FS2033
Application/0.E. M:

B.M.W 61 318 360 857

c@% waos| G \ Ldod | i \

Mhw no: WK0073

Part no: FAE38185 FS2034
Application/0.E. M:
AUD|-SEAT-VN 1J0 959 481 A

Whw no: WKOO78
Part no: FAE35290
Application/0.E. M:

CITROEN 96 008 159
JAEGER 33735104
PEUGEOT 0242.78

4

103°C-987 ‘

cx|§ s A0 ] L

AC % M22X1 5 Telal | St ‘ AC 1 % MM.-'1.25| ‘ ey 18C ‘
Whw no: WK0074 Mhw no: WK0O79 “~y
Part no: 7.5063 FS2004 FAE36020 Part no: FAE37960 FS2035 ;
Application/0.E. M: Application/0.E. N: . \
B.W.W 1364 273 FORD 6 190 785 Sl

61 311 364 273 1 - 7001 606

89BB-8B607-AB
89BB-8B607-AC

2

C@zsl % M22%15

95'C-90TC
100C-95T

3 | g

Nhw no: WK0O75

Part no: F$2001

Application/0.E. N:

FORD 6 155 859
86AB-8B607-AA

© | LJ

80C-TST ‘

‘C@ 2% ’ % 38X1GNPT

Mhw no: WK0080

Part no: FAE36270 FS2021
Application/0.E. N:
VOLKSWAGEN 867 959 481

g

[« ] | sscaoc

‘ C@zs % M22X1.5

http://www.okaymotor.com



CATALOGUE OF THERMO SWITCH

Whw no: WK0O81

Part no:
Application/0.E. N:

[0 w

d@ 24 % M18X15

Mhw no: WKOO86

Part no:
Application/0.E. M:
NISSAN 21595-73L05

m T8 | - 90C-85

Mhw no: WKO0082

Part no: F52028

Application/0.E. N:

GITROEN 96 123 564

RENAULT 77 00 782 503
77 00 796 048

‘C@ 2 % M16X1.5

Nhw no: WKOO87

Part no:
Application/0.E. N:
TOYOTA 88625-20300

Ty |
29 ma2x1s | @ ) 92C-821 ‘ , by, ’ M14X1.5 — = =
g @ | L P

Mhw no: WK0O083 Nhw no: WK0088
Part no: Part no: FS154
Application/0.E. M: Application/0.E. MH:
G. M. 90 242 217 ELTH 268012

90 277 288 FIAT 5983 011
OPEL 13 41 011

13 41 017
ELTH 264203

C@ 2 % M22X1 5

@ o |8 e B | 1t | i |

Whw no: WK0084

Part no: FAE38100 FS2006

Application/0.E. M:

B.W.W 1378073
61311378073

&

Nhw no: WKO0089
Part no: FAE36220 FS2008
Application/0.E. N:

ELTH 264057
G. M. 90 340 497
OPEL 13 41018

Ll

97'C-92¢ 100°C-85T

90°C-851 ‘

%M:Ms!{ ] |

efa

Mhw no: WK0085

Part no: TU-201

Application/0.E. N:

NISSAN 21595-01A00
21595-04A00

C@z: % M1BX1.5

!d@:&

Mhw no: WK0090
Part no: FAE38220 FS2017
Application/0.E.N:

ELTH 268109
G N 90 482 428
OPEL 18 46 201

120C-115¢C

1057T-100° ‘

http://www.okaymotor.com



CATALOGUE OF THERMO SWITCH

Whw no: WK0O091

Part no: TU-202
Application/0.E. M:
NISSAN 21595-D3000

C@ 39.

Mhw no: WK0092

Part no: FAE38110 FS2027

Application/0.E. N:

ELTH 268063

RENAULT 77 00 839 072
77 01 036 113

@] @ | 10 | Ex]

m
Whw no: WK0096
Part no: FAE37970 FS2020 f \
Application/0.E. M: r
FORD 6154 134 -
7001 605 - ’

87BB-8B607-AA

&

100C-95T
1157-1051

% S “T_d f.e)

<[

Whw no: WK0093

Part no: FAE36540 FS2011
Application/0.E. N:
TOYOTA 89428-33010

0| g @ | L

e[ B e [

Whw no: WK0094

Part no: TU-403
Application/0.E. N:

MAZDA E565-18-840

Whw no: WK0097

Part no:
Application/0.E. M:

@[t |

Whw no: WK0098

Part no:
Application/0.E. M:

Mhw no: WK0099

Part no: FAE35410

Application/0.E. M:

AUDI-SEAT-VN 035919 369D
052 919 369

Aesfl| L | =

C@ 2 % 3/8GAS ﬁ#mmﬁ ’ T % T M5C-110T C@ 2:‘ % M10x1.0
Mhw no: WK0095 Mhw no: WKO100
Part no: FS111 Part no: FAE37630 FS102
Application/0.E.N: i Application/0.E. M:
HONDA 37760-PB2-003 ' DENSO 071 400-1062

37760-634-005 MITSUBISHI  MB-007639

SUZUKI 17680-78000
UNIPART BNP 1883 L7

} jg 27 % M16X1.5 ﬁlammﬁl ’ T_\( 92C-87¢ ’ ‘ ‘C@ 17 % M1B% 1.5

85-80TC ‘ ‘

El 6.35

oy

http://www.okaymotor.com -10-



CATALOGUE OF THERMO SWITCH

Mhw no: WKO101

Whw no: WKO106

Part no: Part no:
Application/0.E.M: Application/0.E. M:
G.M 64 90 993 DATHATSU 83430-87701
250 36 513
1993351
{jﬁE; u %%?1&-1435P [jl §.35 T_rt._} ‘ 101 ‘ C 7 E%g M1BX1.5 l{];:]
Whw no: WKO102 P T
Part no: T5-142 (78) Application/0.E. M:
Application/0.E. N: DENSO 071 400-4320
SUBARU 25242-KA100 1SUZU 8-94483-155-0
46989-5500
24 M16X15 | 4mm 78C-ON 17 3/8GAS 60C-55¢
G [ e[ f = | s | [ W > o] Lt [ o |
Mhw no: WK0103 Whw no: WK0109
Part no: Part no:
Application/0.E. N: Application/0.E. M:
JAEGER 33512902 VOLKSWAGEN 140 959 481 B
: . e o 95-90C
C@‘? % m1;-1.2 ﬂ‘mmﬂ ’ L g ‘ ns ‘ g@*g % s Ledod | imoan
Whw no: WKO104 Mhw no: WK0110
Part no: Part no: FAE37500
Application/0.E. N: Application/0.E. M:
FIAT 4 478 950
4478 951
4 478 952
5951 985
5 951 987
SEAT 3939 836
4 478 950

e li=[0] |

8 ] Lt [

Whw no: WKO105

Part no:

Application/0.E. N:

NISSAN 21595-D0100
21595-D1600

‘{:EE; 27 E%g M16X1.5 | [i::::] ‘ —_— ‘ —_ ‘

Whw no: WKO111

Part no:
Application/0.E. M:
PEUGEOT 1264. 28

65C-60T ‘

[FE =i

http://www.okaymotor.com

-11 -



CATALOGUE OF THERMO SWITCH

Mhw no: WKO112 Whw no: WKO117
Part no: Part no:
Application/0.E. M: Application/0.E. M:
BOSCH 1 457 202 004
‘ ﬂg 2 ’ % M14X1.5 ‘ T_\H ’ 124¢ ‘ ‘ :(g u % M14X1.5 0 | 3 ‘
Mhw no: WKO113 Whw no: WKO118
Part no: Part no:
Application/0.E. M: Application/0.E. N:
DAIHATSU 83430-87215-000
83430-87208-000
C@u % 318GAS E §.35 ‘ T—H 92C-871 ‘ C@zq % M14X1.5 Ela.asﬂ‘ Le? 1151 ‘
Whw no: WKO114 Mhw no: WKO119
Part no: FAE35250 Part no: FAE35700
Application/0.E. N: Application/0.E. N:
RENAULT 7700 771 786 RENAULT 77 00 790 581
77 00 786 460 ELTH 267407
77 00 823 512
j@ 19. % M14X1.25 ‘ T_\(j ’ 120 ‘ i@ % ‘ % M14X1.25 ﬁ Le1 65-55
s L - e ‘H! 0. L
Mhw no: WKO115 Mhw no: WKO120
Part no: FAE38110 Part no:
Application/0.E. M: Application/0.E. M:
RENAULT 77 00 839 072
77 01 036 113
AC = % M22X1.5 .I ’ lele] | Sose ‘ (C = | % 112-14NPT Ea.asﬂ L&l 94C
Mhw no: WKO116 Whw no: WKO121
Part no: Part no: TS6129 7.4112 FAE35440
Application/0.E. N: Application/0.E.N:
AUD|-SEAT-VN 035 919 369C
C@ﬂ- % MEX1.0 Es.asﬁ‘ T 1 8¢ ‘ C@zz % M10X1.0 Ea.ssﬂ | ST | ‘ 85t

http://www.okaymotor.com

-12 -



CATALOGUE OF THERMO SWITCH

Mhw no: WKO0122

Part no: 7.5064 FS2005 FAE36010

Application/0.E. M:

B.M.W 1364272
61311357073
61311364 272

Nhw no: WKO0127

Part no:
Application/0.E. M:
NAZDA B6ST7-18-840

VOLVO 1378504
1378504-3
G. M 90277406
OPEL 1341010 _; _ _ Black
j@ 2:‘ % M:4x1.s} Esasﬂ’ e | j@ 17 ’ % M16X15 ‘ T—\H ‘ 970920
Whw no: WKO0123 Whw no: WK0128
Part no: Part no:
Application/0.E. M: Application/0.E. M:
(] 12/04
C@zz % M14X1.5 Es.asﬂ‘ T_.z j‘ :(; 2 % L B ‘ T_E I ‘ 130¢C ‘
Mhw no: WKO0124 Nhw no: WKO0129 2
Part no: Part no: /
Application/0.E.M: Application/0.E.M: =
VDO 30/38/21 ' e |

E 6.35

Tl

C—(g 19 % M14X1.5 100-95¢ fﬁé‘ IR ‘ 87¢ ‘
Mhw no: WK0125 Whw no: WK0130
Part no: Part no:
Application/0.E. M: Application/0.E M:
TOYOTA 89428-10090
iy
' fihite
C@ 1?‘ % M18X1.5 907-85¢ ‘ E £.35

© ||

o[y Aot - |

Mhw no: WK0126

Part no:
Application/0.E. M:
HONDA 37773-PT0-003

% M16X1.5

AC2

>

Nhw no: WKO131

Part no:
Application/0.E. M:

: T;Q f 75420
©1.6X22cm

C@zz % N18X1.0

http://www.okaymotor.com

-13 -



CATALOGUE OF THERMO SWITCH

{

T_H - 100¢C

Mhw no: WK0132

Part no: 7.4069 FAE35770

Application/0.E. M:

MERCEDES 006 545 14 24
006 545 39 24

Q 4mm

C@ 2 % M14X1.5

Mhw no: WKO137

Part no:

Application/0.E. M:

AUDI 823 959 481F
PORSCHE 944 606 481 00
SKODA 113 095 090
VOLKSWAGEN 823 959 481

823 959 481A
823 959 481F

C@ze % M22X1.5 Es.asﬂ!- 1« T

92C-87C

Whw no: WK0133

Mhw no: WKO138

Part no: 7.5065 FAE36610 Part no:
Application/0.E. M: 4 Application/0.E. M:
G.M 94116917 SKODA 6U0 959 481E
94411169/94411494 )
HYUNDAI 25360-21100/21110 3 M
25360-21200/21201 My
25360-21301/28000/32100 -
1SUZU 8-94116917-0 -
8-94411494-0/1 )
C@'21 % M16X1.5 H‘) T« ] | sscerc ‘ C@:G % M22X1.5 Ea.asﬂ‘ @] 9?'1'92 ‘ sml.:;]'s.
Whw no: WKO0134 Mhw no: WKO0139
Part no: 7.5110 FAE36620 Part no:
Application/0.E. M: . Application/0.E. M:
HYUNDAI 25360-33010 WAZDA
25360-33011 !
25360-33101 ~ 5
My,
/ 8
C@ :1’% M16X1.5 ’ T__\( f 90C-85¢ C@zg % M22X1.5 Ea.ssﬂ‘ T_\( ]’ 75C-701 ‘
Mhw no: WK0135 Whw no: WKO0140
Part no: 7.5150 FAE36610 Part no:
Application/0.E. M: p Application/0.E.N:
G.M 94116917
94411169/94411494 /
HYUNDAI 25360-24000 4 "
25360-24050 L[ Sty
1SUZU 8-94116917-0 |8
8-94411494-0/1 ¥
MITSUBISHI ~ 25360-24000 _ )
C@m‘% wocts | (5D <] ‘ 850-80C ‘ AC %mmww r[l wo | D ‘
Mhw no: WKO136 Mhw no: WKO141
Part no: 7.5184 FAE36630 Part no: 7.5086 FAE36150
Application/0.E. N: Application/0.E. M:
HYUNDAI 93920-33000 DAIHATSU 89428-10050-000
o TOYOTA 89427-10050
."\"&,,’
'
- BLUE
. . . . ) . Blackring
C@n % MIEX1.5 1M5C-110T (@1? % W6X15 - ‘ LL& ‘ 97092t ‘

http://www.okaymotor.com

-14 -



CATALOGUE OF THERMO SWITCH

Whw no: WKO142

Part no: 7.5088 FAE36120

Application/0.E. M:

G. M. 94 842 801

TOYOTA 89427-01020
89427-12070
89427-16020

] @ [ [+

Mhw no: WKO147

Part no: 7.5035 FAE37440

Application/0.E. M:

NISSAN 21595-M0205
21595-M0206

e[ geg] )

8517-80T

Mhw no: WKO148
Part no: 7.5059
Application/0.E. M:

Mhw no: WK0143
Part no: 7.5089
Application/0.E. M:
TOYOTA 89428-20050 HONDA 37767-PE1-661
C@i? % M16X1.5 - T_H 50C-451¢ C@?T % M16X1.5 ﬁdmmﬁ‘ ] N | ‘ 112C-107¢
Whw no: WKO144 Mhw no: WKO149
Part no: FAE36130 Part no:
Application/0.E. N: Application/0.E. M:
TOYOTA 89428-10031
BROWN
. ; Qrange ring|
C@ 17 % M18X1.5 - T_rH 92C-87¢ ‘ C@es.a 3!4:(1EUNF Es.ssﬂ‘ | N [ 120¢ ‘

Mhw no: WKO145
Part no: FAE36140
Application/0.E. N:
TOYOTA 89428-30031

GREY
Blackring

{ﬁw % M16X1.5 - T_H ‘ 95C-88¢

Mhw no: WKO150
Part no:
Application/0.E. M:

C@zz.{% 112X14NPT

~

Whw no: WKO146

Part no: 7.5266 FAE36711

Application/0.E. M:

DAIHATSU 89428-10120-000

TOYOTA 89428-10120
89428-52010

M16Xt,5. @ { T_H 90T-85¢C

C@i?

C@zz:

Mhw no: WKO0151

Part no:
Application/0.E. N:

P

g efl] L]

http://www.okaymotor.com

-15-



CATALOGUE OF THERMO SWITCH

Mhw no: WKO0152

Part no:
Application/0.E. M:

| gl B L

Mhw no: WKO157

Part no:
Application/0.E. N:

C@zz.z % 1/2X14NPT

Aeefl| Lo 1|

Mhw no: WKO0153
Part no:
Application/0.E. M:

Whw no: WKO158

Part no:
Application/0.E. M:

C@w.s %mmsww ﬂs_asﬂ T N | 107

C@:z.z % 1/2X14NPT

LA |

120¢

Mhw no: WKO0154

Part no:
Application/0.E. M:

e W [of) 1|

Mhw no: WKO159
Part no:
Application/0.E. M:

C@zz.z % 112X14NPT

T¥| L

Mhw no: WKO155
Part no:
Application/0.E. M:

C@zs.a %mmsuus

77| L]

Mhw no: WKO160
Part no:
Application/0.E.N:

C@zs.a % 12X14NPT

T¥ L)

Mhw no: WKO156
Part no:
Application/0.E. M:

I ]

Mhw no: WKO161

Part no:
Application/0.E. M:

=

% MIBX1.5

}
225X 25em

=

http://www.okaymotor.com

-16 -



CATALOGUE OF THERMO SWITCH

Mhw no: WK0162
Part no:
Application/0.E. N:

r3 E e

http://www.okaymotor.com

-17-



